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NS 2 0.2
K HREET 1 0.1
WEEET 3 0.3
JRILHET 6 0.6
BEM — —
Frih BT 5 0.5
EREE A - -
LhEm 166 | 17.0
H|ELA 89 9.1

BNEt 975 | 100.0




B IRAN 85 1E D 5 B, TEBRIR 23 16 1F (18.8%) Lk b2 < T TR 73 13 14 (15. 3%) |
HHBUL) 238 (9.4%) Thoiz,

#3—6 BEROMKREDOIADETT (&S EA4)

EEFE | 4% % MEFE | HH% % EBERTIR = %
JbisE 4 47 -0 — — EER - —
HHE — - EHE — — FNE — —
RS 3 35 Iz B2 12 — - EiRR — —
EFER — — FaiE R — — EHIR - —
=R 16| 1838 BHIR - — a2 6 7.1
iz 2 3 35 =58 — — EEER - —
RIF IR 5 5.9 HEE 1 1.2 RIFE - —
AR 7 8.2 REBAT — — N - —
HER — — KB AT 4 47 Nl 1 1.2
BER 6 7.1 EER 1 1.2 =BG - —
FER 1 1.2 ZRE — - ERER — -
RIRED 13| 153 FoERLE — — s 1 1.2
HE)IE 2 2.4 EHRE - — B4t 85| 100.0
e 8 9.4 ERE — —

=R — — fiE] L — -

AR — — LBR 1 1.2

fBHE 1 1.2 I =)= 1 1.2

dLEE
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(3) HHERE OHICRIL

FHERE DR SRDLIL, 1,270 D 5 5,

(HE « ERERE) AN 1,104 1F (86.9%) &b E<. &

VT THEREE ) 251,008 1R (79.4%) |

(B - 8 N2 (7.2%) Tholz,

£3—T7 MREOHICKRIL (EEEE)

N=1,270

e s EF R (N=55) =R (N=153) 258 (N=1,062) ‘._?-‘§+(N=1,270)

- % H3 % H3 % B %
HEERBE 37 67.3 58 37.9 1,009 95.0 1,104 86.9
MATRERRE — — 1 0.7 1,007 94.8 1,008 79.4
BESIE- 1 31 56.4 26 17.0 35 33 92 7.2
[P Blid - - - — 83 78 83 6.5
ELEE-E8E=E 5 9.1 3 2.0 59 5.6 67 5.3
REFEEAR 16 29.1 12 7.8 18 1.7 46 3.6
E:34)4 — — 1 0.7 28 26 29 2.3
HiR e 1 1.8 2 1.3 12 1.1 15 1.2
RiEER>-TETFH 3 55 8 5.2 4 0.4 15 1.2
Z Dt 11 20.0 5 3.3 4 0.4 20 1.6
FN:: 10 18.2 78 51.0 34 3.2 122 9.6
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(4) #EIRBL & EFF & DB

FHERE ORESORDL E TR & OBRE 2D &, THIE - BEgE ) O%A1 TFREM-E) 23 272 1
(24.6%) LB, RNT TSRIFIE] A 184 18 (16.7%) . [xFABIR] 23179 14 (16.2%)
ThHol-,

iR E ) OWEIEL. TEIERIEE] 23258 1 (25.6%) &b <, WRWT IxPARR] 23
175 7 (17.4%) . TRImRAE] 25 153 (15.2%) Th -7z,

AR - ) OBRAIE. THRERME] 23 204F (21.7%) &b <. RWT THEEH]
2317 F (18.5%) . [TRImRHE] 25 164 (16.3%) Th-o7o,

MESNBEEE ) DAL, TEERE] 223 1F (27.7%) b %<, RWT TELH L) 2191
(22.9%) . A=) BN 12# (14.5%) THoiz,

M LR - GBET) O%a. THEME] & TEET7 845 164F (4% 23.9%) &b
<o RWT TES L) 28141 (20.9%) ThH-oT=,

MEEEFEENE] OLAIE, THEEXH] D154 (382.6%) ERbE <, RWT IFEKEME] 2
10 (21.7%) . TEHL] 2884 (17.4%) Thoi,

IFIEBER O TS LI 81 (27.6%) &b 2 < KWW CIEERIE] 23 6 14 (20. 7%)
DOEARIE) & TAE ) %41k (% 13.8%) ThoTz,

[BREREE ) OBAIL. TEERBE S84 (63.3%) kb %<, RW\WT [JURE) & Txt
ANBIR) & TES L) %24 (% 13.3%) THoT-,

(FRERD - ZERP) O%EIEL, [REE & TES L) A& 41 (26.7%) &mb%<,
RNT ARET] A3 (20.0%) Thol,

#3—8 HIRILE kL DBR (BEREIZ)

_ EFR EHR wEE &it
IR xR =

3 % H4 % 3 % H %

RI&REIE 5 135 9 155 258 25.6 272 246

K7 RE 1 2.7 29 50.0 154 15.3 184 16.7

xt NB8 R 2 5.4 2 3.4 175 17.3 179 16.2

1 | DIERIRIRE 3 8.1 5 8.6 102 10.1 110 10.0

H | EER 17 459 2 3.4 88 8.7 107 9.7

BoL 1 2.7 2 3.4 86 8.5 89 8.1

E-ZREE t= 3 8.1 1 1.7 37 3.7 41 3.7
it 2 5.4 — — 23 2.3 25 2.3

£ |DV 3 8.1 7 12.1 51 5.1 61 55

5 | DVRISL DR S — — 1 1.7 9 0.9 10 0.9

T | zoith — — — — 23 2.3 23 2.1

ﬁ EN: — — - — 3 0.3 3 0.3

INET (M - SRR 37| 100.0 58 | 100.0| 1,009 | 1000| 1,104| 100.0
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i EFR EHR BwER &t
IR xR

3 % H45 % H3 % H3 %
e — — — — 258 25.6 258 25.6
xt NB8 R — — - — 175 17.4 175 17.4
KimfeE - - - - 153 15.2 153 15.2
| DERRIRRE — — - — 102 10.1 102 10.1
H | EEH — — — — 87 8.6 87 8.6
BoL — — — — 86 8.5 86 8.5
METRERE t= — — — — 37 3.7 37 3.7
it — — — — 23 2.3 23 2.3
£ DV — — 1] 1000 51 5.1 52 5.2
51 | DVESL DR A — — — — 9 0.9 9 0.9
j’) Z0tts — — — — 23 2.3 23 2.3
ftn | EA — - - - 3 0.3 3 0.3
INET ORSTREARE) — — 1| 100.0| 1,007 | 1000| 1,008| 100.0
KiERE 5 16.1 1 3.8 14| 400 20 21.7
£EH 14| 452 1 3.8 2 5.7 17 185
K47 o R — — 13 50.0 2 5.7 15 16.3
fd |t ABSR 2 6.5 2 7.7 4 114 8 8.7
& | IDIBHIRRE 3 9.7 2 7.7 3 8.6 8 8.7
BoL 1 3.2 2 7.7 5 14.3 8 8.7
BELE-F1F t= — — 1 3.8 3 8.6 4 43
ANy 3 9.7 — — — — 3 3.3
£ | DV 3 9.7 3 115 1 2.9 7 7.6
5 | DVRISL DR S — — 1 3.8 — — 1 1.1
T | zoith — — — — 1 2.9 1 1.1
INHEELE-F5) 31| 1000 26 | 100.0 35| 100.0 92 | 100.0
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. ) HER EHR BEE &t
#HERR 5K
541 % 531 % 541 % 541 %
R iEEE - — — — 23 27.7 23 27.7
BE5L — — — — 19 22.9 19 22.9
2] — — — — 12 145 12 145
15 | Xt AR — — — — 7 8.4 7 8.4
& | kieRAE — — — — 6 7.2 6 7.2
T= — — — — 6 7.2 6 7.2
B 5} h IR RE — — — — 5 6.0 5 6.0
Y — — — — 1 1.2 1 1.2
£ | DV - - - — 1 1.2 1 1.2
51 | DVUSDES — — — — 2 24 2 24
T | FDits — — — — 1 1.2 1 1.2
1)
fto | 7RBA - - - - — — — —
INET (B 4% B2 ) — — — 83| 100.0 83| 100.0
KR8 1 20.0 1 33.3 14 23.7 16 23.9
-] 4 80.0 — — 12 20.3 16 23.9
BE5L — — 1 33.3 13 22.0 14 20.9
iy | DIEBRIRIE — — — — 6 10.2 6 9.0
& | Ki@RRE — — 1 33.3 3 5.1 4 6.0
R t= — — — — 4 6.8 4 6.0
= = st A B % — — — — 3| 51 3| 45
F= -
A=Y - - - — — - — -
£ | Dv — — — — 2 34 2 3.0
51 | DVUSDES — — — — 2 34 2 3.0
T | zofth — — — — — — — —
1)
it | THH — - - - - - - -
Nt LER-EBEE) 5| 1000 3| 1000 59 | 100.0 67 | 100.0
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% ) EFR EHR wEEE &it
BRSO 5 *3
H3 % H4 % H3 % H3 %
£EH 12 75.0 1 8.3 2 11.1 15 326
K& RE — — 3 25.0 7 389 10 21.7
BoL 1 6.3 2 16.7 5 278 8 17.4
1 | &t ABSR — — 1 8.3 2 11.1 3 6.5
& | IDNIBRIRRE 1 6.3 1 8.3 — — 2 43
K47 o R — — 1 8.3 — — 1 2.2
REEEAE t= — — — — 1 5.6 1 2.2
it 1 6.3 — — — — 1 2.2
£ | DV 1 6.3 3 25.0 — — 4 8.7
5 | DVLUSADEA - - - - — — - —
j’) Z0ts — — — — 1 5.6 1 2.2
i | T - — - - — — — —
MEHAREEEAR) 16 | 100.0 12| 1000 18| 1000 46 | 1000
BoL — — — — 8 28.6 8 276
e — — — — 6 21.4 6 20.7
ERRIRRE — — — — 4 14.3 4 13.8
| E=H — — — — 4 14.3 4 13.8
# | KIZMIRE — — — — 2 7.1 2 6.9
xt NB8 R — — 1] 100.0 1 3.6 2 6.9
KRR t= — — — — 1 36 1 34
ANy — — — — 1 3.6 1 34
£ | DV — — — — 1 3.6 1 34
1| DVLSADRA — — — — — — — —
T |zt — — — — — — — —
)
fo | 8 ol D D T S R I
INET (R TEBERR) — — 1] 1000 28 | 100.0 29 | 100.0
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% _ AFE =1 BER =
#HERR 5K
H% % HE % H% % H% %
R iEEE - — — — 8 66.7 8 53.3
KimfERE - - 1 50.0 1 8.3 2 13.3
*t A B8R - - 1 50.0 1 8.3 2 13.3
| BS5L - - - — 2 16.7 2 13.3
H | EEH 1| 100.0 - - — - 1 6.7
DIERIRTRE — — - — — — — —
Bk Ehts t= — — - — — — — —
Y — — — — — — — —
£ | DV — — — — — — — —
51| DVUSDRA — — - — — — — —
T | zofth — — — — — — — —
1)
| F% - - - - -1 -1 -1 -
INET (R B EE) 1| 100.0 2| 100.0 12| 100.0 15| 100.0
K imRERE — — 4 50.0 — — 4 26.7
BoL 1 33.3 - - 3 75.0 4 26.7
EEH 1 33.3 1 12.5 1 25.0 3 20.0
| = 1 33.3 1 12.5 — — 2 13.3
A | RiEMIRE — — 1 12,5 — — 1 6.7
s e *t A B % — — — — — — — —
£ 5- %5
- DRI - -1 - -1 -1 -1 - -
4~ —
Y — — — — — — — —
£ | DV — — 1 12.5 — — 1 6.7
5| DVESADRSA - - - - - — — —
T | zofth — — — — — — — —
1)
i | T - — - - — — — —
N (RIEE RS RETH) 3| 1000 8| 1000 4| 1000 15| 100.0
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_ EFR EHR wEEE &it
IR xR

H3 % H4 % H3 % H3 %
KimfeE - - 4 80.0 1 25.0 5 25.0
R iEfERE 2 18.2 - - 2 50.0 4 20.0
IR RE 3 273 1 20.0 — — 4 20.0
| EEH 2 18.2 — — — — 2 10.0
& | ®t AR 1 9.1 — — — — 1 5.0
t= — — — — 1 25.0 1 50
D it 1 9.1 — — — — 1 5.0
BoL — — — — — — — —
£ DV 2 18.2 — — — — 2 10.0
51| DVLSADRA — - - — — — - -
T |zt — — — — — — — —

D
| T o D e e el R e
INEH (Z D) 11| 1000 5| 1000 4| 1000 20 | 100.0
K47 o R 1 10.0 29 37.2 2 5.9 32 26.2
RIkREE 1 10.0 20 25.6 5 14.7 26 213
ERRIRRE 3 30.0 5 6.4 2 5.9 10 8.2
i | BSL — — 2 2.6 7 20.6 9 7.4
& | *t AR — — 3 3.8 — — 3 25
£EH 2 20.0 — — — — 2 16
~H =Y bl 1 10.0 1 1.3 — — 2 1.6
t= — — 1 1.3 — — 1 0.8
£ |DV 1 10.0 15 19.2 — — 16 13.1
5 | DVRISL DR S 1 10.0 1 1.3 1 2.9 3 25
j’) Z0ith — — 1 13 5| 147 6 49
fth | THA — — — — 12 35.3 12 9.8
INET (ASBA) 10| 100.0 78 | 100.0 34| 100.0 122 | 100.0
&&t 114 — 194 — | 2293 — | 2601 —
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(5) FiFiTTdREDEE
TSR T HEROBEOFWELZHD & FHEAE 1,270 D0 5 B TH Y 153 195 14 (15. 4%) |
IER%ICFEmEE - Bk 694 (5.4%) . T7eL) 7271 (67.2%) ThoT=,

F3—9 TERICHTHEKOLE

FRIZHTEIEKDEZE SFR ER kil . L
H# % ¥ % ¥ % B %
HY 19 34.5 21 13.7 155 14.6 195 15.4
BRIckmit- Bt 11 20.0 23 15.0 35 33 69 5.4
L 19 34.5 73 47.7 635 59.8 727 57.2
EN:: 6 10.9 36 235 237 22.3 279 22.0
H 55 100.0 153 100.0 1,062 100.0 1,270 100.0
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(6) BMEKDOEE L FEFL OB

EBROEENHL ST LEE LT

7F 195 % 1

BHE<, RNT TES L] N334 (16.9%) .

EmRBICFEHAL - BAL U LRI L= 5k 69 14T,
29.0%) EHEHEL ., WWT [HEXFH] BNofk (13.0%) ThHhol-,

N D &

(R A 43 1 (22.1%) &
(X)) 8304 (15.4%) TH-oiz,
[FZHERE) & TR 2345 20 1 (%%

BRDEBEN o= LAIE Uiz B5F 727 - Cld, TRERE) 28 187 1 (25.7%) &b %<,
WNT TP ABAGR) 28 134 14 (18.4%) .

MR 28 123 7 (16.9%) ThoTz,

#3—10 EROEEL T
REOER 5 RSN ST e
RIERIE 2| 105 2 9.5 39| 252 43| 221
Bl 1 5.3 1 48 31| 200 33| 169
EEF 8| 421 — — 22| 142 30| 154
RS 1 5.3 13| 619 11 7.1 25| 128
# | 5t NBER 1 5.3 2 9.5 18] 116 21| 108
LIRS 3| 158 2 9.5 14| 90 19 9.7
HY = - — — — 9 5.8 9| 46
Ay 1 5 — — 3 1.9 4l 21
g |DV 1 5.3 1 48 3 1.9 5 2.6
7| DvES DR S 1 5.3 — — 2 13 3 15
0%) Z0th — — — — 3 1.9 3 15
| T - - - - - - - -
INET (BY) 19| 100.0 21| 1000| 155| 1000| 195| 100.0
RikRIE 2| 182 5| 217 13| 371 20| 290
X iRRE - — 13| 565 7| 200 20| 290
ExF 5| 455 — — 4l 114 9| 130
iy | DERRIE - — — — 40 114 4| 58
7| E5L — — — — 3 8.6 3 43
it A B 1% 1 9.1 — — 2 5.7 3| 43
%%&':iﬁﬂs'% Y 2| 182 — — 1 29 3| 43
t= - - 1 43 - — 1 14
g | DV 1 9.1 3| 130 1 2.9 5 7.2
7| DVt DR S — — 1 43 — — 1 14
;”c) Z 0t — — — — — — — —
t | T - - — — - - - -
INEH (REE- B1E) 11| 1000 23| 100.0 35| 1000 69 | 100.0
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o TR =2F8R EHE =REE _ =1
H5 % H5 % H5 % : %
RiERIE 2| 105 20| 274| 165| 260| 187| 257
3t A% 1 5.3 2 27| 131| 206| 134| 184
KIBRARE 1 5.3 32| 438 90| 142| 123| 169
i | DERAIRREE 5| 263 2 2.7 62 9.8 69 9.5
H | kxR 2| 105 — — 52 8.2 54 7.4
BoL — — 2 2.7 41 6.5 43 5.9
AL = 3| 158 1 14 22 35 26 3.6
Y 1 5.3 1 14 11 1.7 13 18
s | DV 3| 158 12| 164 36 5.7 51 7.0
A | pvestogh — — 1 14 6 0.9 7 1.0
0%) Z0th 1 5.3 — — 15 2.4 16 2.2
| R — — — — 41 06 41 06
INEH(F2L) 19| 100.0 73| 1000| 635| 1000| 727 | 100.0
KIFRAE — — 14| 389 48| 203 62| 222
R i&EfEE — — 3 8.3 51 21.5 54 19.4
5t A% — — 1 2.8 32| 135 33| 118
i | DERAIRREE 1] 167 6| 167 24| 1041 31 114
7 | E5L — — 1 2.8 20 8.4 21 75
EEF 4] 667 2 5.6 10 42 16 5.7
i Wt — — — — 8 3.4 8 2.9
= — — 1 2.8 6 25 7 25
= |DV 1] 167 7| 194 11 46 19 6.8
7| DVt DR S — — — — 2 0.8 2 0.7
0%) Z0th — — 1 2.8 12 5.1 13 47
fth | A - — — — 13 5.5 13 4.7
INET (REA) 6| 1000 36| 1000| 237| 1000| 279| 100.0
55 — | 153 — | 1062 — 1 1270 —
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